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(E+A) (CH : &, USHS, %)
2014'4 6¥ 20154 6% sug

TE e 2 o e 2 o R
= A 105,334 182,975 104,770 185,079 -0.5 1.2
<M M> 18,600 39,918 16,216 36,705 -12.8 -8.0
A= 8,063 10,413 7,236 9,711 -10.3 -6.8
HA= 4,938 10,692 4471 9,684 -95 -94
OlA= 363 4 852 183 5,465 -49.7 12.6
AN 1,889 5,772 1,925 5,445 19 -57
N A 2,506 5,763 1,964 5,041 -21.6 -12.5
AMEIEAS 569 1,415 428 1,286 -0.2 -0.1
<7} 2> 77,471 101,943 77,522 106,365 0.1 43
Adx= 4,293 35,237 3,843 37,190 -10.5 5.5
F = 2,904 4,541 3,471 5,313 19.5 17.0
AR 294 1,618 494 2,111 67.9 30.5
L2 2,652 3,337 1,472 1,648 -44.5 -50.6
Nl N =4 130 618 254 1,259 951 103.8
H = 89 260 76 277 -14.1 6.6
ENED 4,385 1,345 4,966 1,561 0.1 0.2
<TAME> 9,262 41,113 11,031 42,008 19.1 2.2
Uuz= 2,454 21,749 2,170 17,932 -11.6 -17.6
o = 5,506 14,739 5,967 17,125 84 16.2
] B = 54 1,540 89 2,265 65.2 47.0
o =2 44 372 61 631 39.4 69.6
7| Ef 1,203 2,711 2,742 4,053 1279 495
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